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Date Interpretation Bar Graph Questions for IBPS PO Pre, RRB Scale I 
Pre, SBI PO Pre, SBI Clerk Mains and IBPS Clerk Mains Exams. 

DI Bar Chart Quiz 48 

Directions : Study the following bar chart carefully and answer the questions given beside. 

The following bar chart gives the information about the number of Foreigners and Indians who visited  five 
different places Goa, Shimla, Manali, Agra, and Pondicherry in India during the year 2017. 

  

 
 

1.  The number of foreigner tourists visited in Goa during the year 2017 is approximately 
what percentage more than the number of foreigner tourists visited in Pondicherry during 
the year 2017? 

A. 50%   B. 200%  C. 125%  D. 150%  E. 100% 
 

2.  What is the difference between the number of foreigners who visited in the given five 
places during the year 2017 and the number of Indians who visited in the given five places 
during the year 2017? 

A. 240   B. 280   C. 210   D. 270   E. None of these 
 

3.  By what percentage the number of Indians who visited Shimla during the year 2017 is 
less than the number of Indians who visited Agra during the year 2017? 

A. 31%   B. 34%   C. 39%   D. 27%   E. 24% 
 

4.  What percentage of total people who visited Goa during the year 2017 were Indians? 

A. 43.33%  B. 44.67%  C. 41.82%  D. 38.21%  E. 48.88% 
  



 

 

5.  The number of Foreigners who visited Agra during the year 2017 was approximately 
what percentage of the sum of the total number of Foreigners who visited the given five 
states during the year 2017? 

A. 24.25%  B. 28.34%  C. 16.15%  D. 26.15%  E. 29.85% 
 
 
Correct Answers: 

1 2 3 4 5 

E C A C D 

 
 

Explanations: 
 
 

1.    

The reqd. % =  
(640 – 320) × 100 

 =  
320 × 100 

 = 100% 
320 320 

 
Hence, option E is correct. 

 
 

2.   The number of foreigners who visited in the given five places during the year 2017 = (640 + 520 + 440 + 
680 + 320) = 2600 

  
the number of Indians who visited in the given five places during the year 2017 = (460 + 580 + 540 + 
840 + 390) = 2810  

  
the required difference = 2810 – 2600 = 210  

  
Hence, option C is correct. 

 
 

3.  The number of Indians who visited Shimla during the year 2017 = 580 
 
the number of Indians who visited Agra during the year 2017 = 840 
 

The reqd. % =  
(840 – 580) × 100 

 =  
260 × 100 

 = 30.95% = approximately 31% 
840 840 

 
Hence, option A is correct. 
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4.  Total number of tourists visited Goa during the year 2017 = 640 + 460 = 1100  
  

The Indian tourists = 460  
  

The reqd. % =  
460 × 100 

 = 41.82% 
1100 

 
Hence, option C is correct. 

 
 

5. The number of foreigners who visited Agra during the year 2017 = 680  
  

the sum of the total number of foreigners who visited the given five states during the year 2017 = 
2600  
  

The reqd. % =  
680 × 100 

 = 26.15% 
2600 

 
Hence, option D is correct. 
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